University of Utah
Math 1210, Spring 2008

Name: %ﬁfé’{‘;ﬁ}\& A

Quiz # 2

Time: 15 minutes
Show all work.
Part 1: (3 points} Consider the function f(z) = E?;:&m%iﬁ What is the domain of f7 Find
the limit of f{x) as z - 3. ,
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Part 2: (7 points). Consider the function g defined by g{x) = —z—1if2 < -1, g(z) = ~x
if -1 <2 <0 and g(z) = —z+1if z 2 0. (a) Sketch the graph of g. (b) Fo; ¢ = —1 then
¢ = ( find each of the following (or state that it does not exist): lim, .- g(z), lim,_, .+ g(x)
lirn,.., g{x), and g{c). - , :
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